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R oma | BT e | B2 | e | e | B2 | BT e | B2 | TR | & | e
' 100kN/M#%#8 2 % 1.00/0.00 ~ 1.90 129.24|3m%EBZ S| - ~ = - —| 100kN/mM%#BZ % 1.00| 10.69 ~ 18.47 129.24|3m%E#B2 % -~ = = =
Fhst 1.00/1.90 ~ 968 100.00[ Zxlust | 0.00 ~ 9.68| 2.28 12.22 zhst 1.00] 5.00 ~ 10.69 100.00f Zh st | 500 ~ 18.47| 2.28 12.22
5 100kN/mMZ#BZ % 1.00/0.00 ~ 1.88 128.92|3m%EBZ S| - ~ = - —| 100kN/mM%#8% % 1.00| 10.58 ~ 17.80 128.92|3m%E#B2 % -~ = = =
ZFhs 1.00/1.88 ~ 9.66 100.00| ZHlist | 0.00 ~ 9.66| 2.32 12.43 Zhst 1.00] 5.00 ~ 10.58 100.00f Zh st | 500 ~ 17.80| 2.32 12.43
3 100kN/M#%#82 % 1.00{0.00 ~ 1.24 118.81|3m%x#EZ % = ~ = = —| 100kN/mM%#8% % 1.00| 10.58 ~ 14.70 118.81|3mZBZ5 -~ = = =
ZFhs 1.00[1.24 ~ 903 100.00f Zhist [0.00 ~ 9.03| 2.14 11.43 ZFhst 1.00] 5.00 ~ 10.58 100.00f =14t | 500 ~ 14.70| 2.14 11.43
4 100kN/M#%#82 % 1.00{0.00 ~ 0.17 102.53| 3m%x %% = ~ = = —| 100kN/mM%#8% % 1.00| 10.65 ~ 11.10 102.53| 3Im#BZ 5 -~ = = =
Fhst 1.00/0.17 ~ 7.96 100.00| Zhist | 000 ~ 7.96| 2.27 1213 Fhst 1.00] 5.00 ~ 10.65 100.00f =4t | 500 ~ 11.10| 2.27 1213
- 100kN/mMZ#BZ % 1.00/0.00 ~ 1.06 116.02| 3mZEBZzB| - ~ = - —| 100kN/mM%Z#8% % 1.00| 12.36 ~ 17.99 116.02| 3m%E#B2 % -~ = = =
Fhst 1.00/1.06 ~ 885 100.00| x5t |0.00 ~ 8.85 2.11 11.31 Fhst 1.00] 500 ~ 12.36 100.00f =14t | 500 ~ 17.99] 2.11 11.31
100kN/M#%#8 2 % ~ ImEHBZRD ~ 100kN/ Mm% % % ~ 3ImERBAD ~
Fhst ~ Zhst ~ Fhst ~ ZhLst ~
100kN/M#%#8 2 % ~ ImEHBZRD ~ 100kN/ Mm% % % ~ 3ImERBAD ~
Fhst ~ zhst ~ zhst ~ ZhLst ~
100kN/M#%#82 % ~ ImEHBZRD ~ 100kN/ Mm% 25 ~ IMEBRD ~
ZFhs ~ Zhs ~ Fhst ~ zhnust ~
100kN/M#%#82 % ~ ImEHBZRD ~ 100kN/mM%#8% % ~ IMEBRD ~
Fhst ~ ZFhst ~ Fhst ~ ZhLst ~
100kN/M#%#8 2 % ~ ImEHBZD ~ 100kN/mM%#8% % ~ IMEBRD ~
Fhst ~ ZFhst ~ Fhst ~ ZhLst ~
100kN/ M#%#8 2 % ~ ImEHBZRD ~ 100kN/ Mm% % % ~ IMEBRD ~
Fhst ~ ZFhst ~ zhst ~ ZhLst ~
100kN/M#%#8 2 % ~ ImEHBZRD ~ 100kN/mM%E#8% % ~ 3ImERBAD ~
Ths ~ zhst ~ zhst ~ ZhLst ~
100kN/ M#%#8 2 % ~ ImEHBZD ~ 100kN/ Mm% % % ~ ImERBAD ~
ZFhs ~ Zhs ~ ZFhst ~ zhst ~
100kN/M#%#8 2 % ~ ImEHBZRD ~ 100kN/mM%#8% % ~ IMEBRD ~
Zhst ~ Zhst ~ Fhst ~ zhst ~
100kN/M#%#8 2 % ~ ImEHBZD ~ 100kN/mM%#8% % ~ IMEBRD ~
Fhst ~ ZFhst ~ zhst ~ ZhLst ~ |
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